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Identities in right Hom-alternative superalgebras
A. Nourou Issa

Abstract. Some fundamental identities characterizing right Hom-alternative superalgebras are
found. These identities are the Za-graded Hom-versions of well-known identities in right alter-
native algebras.

1. Introduction

A right alternative algebra is an algebra satisfying the right alternative identity:

(zy)y = z(yy).

If, moreover, it satisfies the left alternative identity (zz)y = x(xy), then it is called
an alternative algebra. Alternative algebras were studied ([28]) in connection with
some problems related to projective planes (see also [17]). The 8-dimensional
Cayley algebra is an example of an alternative algebra that is not associative. For
fundamentals on alternative algebras, one may refer to [5], [19], [27].

As a generalization of alternative algebras, right alternative algebras were first
studied in [1], where an example of a five-dimensional right alternative algebra
that is not left alternative is constructed. For further studies on right alternative
algebras one may refer, e.g., to [11], [21], [22] (see also [27] and references therein).

A Zs-graded generalization of Lie theory is considered in [4] and [16] with the
introduction of the Zs-graded version of Lie algebras (now called Lie superalge-
bras). Next, the Zs-gradation of algebras is extended to other types of algebras in
[10], [20] and [26].

Another generalization of usual algebras is the one of Hom-type generalization
of algebras with the introduction of Hom-Lie algebras in [8] (see also [12], [13]).
The defining identity of a Hom-Lie algebra is a twisted version of the usual Jacobi
identity by a linear map, and the corresponding twisted associative algebra, called
Hom-associative algebra, is introduced in [15]. Since then, various Hom-type al-
gebras were defined and studied (see, e.g., [15], [14], [2], [23], [24], [9], [7], [3])-
Observe that, in general, the twisting map in a Hom-algebra is neither injective
nor surjective (see, e.g., [6] for a study on this topic). A Zs-graded generalization
of Hom-Lie algebras is defined in [2].

In [25] the Hom-versions of some well-known identities in right alternative
algebras ([11], [21], [22]) are found. The purpose of this short paper is to discuss
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the Zs-graded versions of the identities found in [25]. Other identities are also
proposed. These Hom-super identities could be useful as a working tool in further
investigations related to Hom-alternative superalgebras.

In Section 2 we recall some useful notions on Hom-superalgebras and prove
some general identities that hold in any Hom-superalgebra. In Section 3 we define
the Zg-graded Hom-version of the function g(w, x,y, z) (that is first defined in [11]
for right alternative algebras, and its Hom-version is defined in [25]) and we prove
that it is identically zero. Next, using essentially the identity g(w, z,y, z) = 0 along
with the Hom-Teichmiiller identity, we prove some fundamental identities charac-
terizing right Hom-alternative superalgebras. As a consequence, we obtained the
Zo-graded Hom-version of the right Bol identity.

All vector spaces and algebras are considered over a ground field of character-
istic not 2.

2. Definitions and some general results

Let Zy = {0, 1} be the field of integers modulo 2. A vector space A is said to be
Zo-graded it A= Ay ® Ay (then A is also called a superspace).

Definition 2.1. A triple (A4,-, «) is called a (binary) Hom-superalgebra (i.e., a
Zs-graded binary Hom-algebra), if A is a superspace, -’ a binary operation on
A such that A; - A; C A;yj, 1,j € Zs, and « a linear self-map of A such that
a(A;) C A; (and then « is said to be even). The subspaces Ag and A; are called
respectively the even and odd parts of the Hom-superalgebra A; so are also called
the elements from Ay and A; respectively.

All elements in A are assumed to be homogeneous, i.e., either even or odd. For
a given homogeneous element x € A; (i = 0,1), by T = ¢ we denote its parity.
Since « is even, a(x) = T (we shall use this fact in the sequel without any further
comment). In order to reduce the number of braces, we use juxtaposition whenever
applicable and so, e.g., xy - z means (z - y) - z. Moreover, for simplicity and where
there is no danger of confusion, we write xy in place of x - y.

In a Hom-superalgebra (A, -, «), the supercommutator and the super Jordan
product of any two elements x,y € A are defined respectively as

[z, y] :=2y — (=) Y%z and zoy:=zy+ (—1)%Yyz.
For any z,y,z € A, the Hom-associator (z,y, z) is defined as
(@,y,2) =y - az) — a(z) - y2.

Definition 2.2. ([2]). A Hom-superalgebra (A, -, «) is called a Hom-Lie super-
algebra if it is super anticommutative and satisfies the super Hom-Jacobi identity,
i.e.,

xy = —(—1)%yzx, and
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zy - az2) + (=1)PTEyz . a(z) + (=1)2F 2z - a(y) =0

for all z,y,z € A. A Hom-superalgebra (A,-,«) is said to be Hom-Lie admis-
sible, if (A,],], @) is a Hom-Lie superalgebra.

Definition 2.3. A Hom-superalgebra A is said to be right Hom-alternative if

(x,y,2) = —(=1)Y*(z,2,y) (right superalternativity) (2.1)

in A, then A is said to be Hom-alternative i.e., —(=1)%Y(y,z,2) = (x,y,2) =
—(=1)¥ (=, 2,y) (superalternativity).

If A has zero odd part, then (2.1) reads as (x,y,z) = —(z, z,y) which is the
linearized form of the right Hom-alternativity zy - a(y) = a(z) - yy.
The following trilinear function is introduced in [2]:

S(z,y,2) = (2,y,2) + (~1)TF D (y, 2, 2) + (=1)*FHD) (2,2, y)

(this definition differs from the one in [2] by the factor (—1)% 7).
Consider in a Hom-superalgebra A the following multilinear function

f(wmc,y, Z) = (wx,a(y), a(z)) - (a(w), LY, a(z)) + (a(w)7a(:r),yz)
_O‘2(w)(x7y7z) - (w7x7y)a2(z)'

The following identities hold in any Hom-superalgebra.

Proposition 2.4. Let (A, -, «) be a Hom-superalgebra. Then

o f(w,z,y,2) =0, (2.2)
o [zy,a(2)] = a(@)[y, 2] = (=1)7 %[z, 2]a(y) =

(x,y,z) ( ) (x,z,y) + (—1)3(§+§)(z,x,y), (23)
o [zy, a(2)] = [z, y]a(z) + (-1)7 [z, a(y)] — (-1)7 *[z, 2]a(y) =

(=17 ¥y, 2, 2) + (=177 (2,2,y), (2.4)
o [zy, a(2)] + (17T [yz, a(2)] + (-1 2z, a(y)] = S(z,y,2),  (2.5)
. (moy)oa(Z) (=173 (zoz)oaly) =

S(z,y,2) = (=178 (y, 2, 2) = 2(=1)*TD (z,2,) + [a(z), [y, 2] (2.6)

for all w,z,y,z in A.

Proof. The identity (2.2) follows by direct expansion of associators in f(w,z,y, z).
Next we have

2y, (2)] — a(@)[y, 2] = (-1)7Z[w, 2Jaly) = 2y - alz) — (=1)*Ta(z) -2y
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—a(z)(yz — (=1)" Fzy) — (-1)? (22 — (-1)? "z2)a(y) = {2y a(z) —a(z) -yz}

(=17 *{zz - aly) — a(x) -2y} + (17T {2z aly) - alz) - 2y}

= (2,y,2) = (-1)7*(x,2 y)+( 1)) (2, 2, y)
and so we get (2.3). As for (2.4), we compute

[zy, a(2)] — [2,yla(z) + (=1)7 *[zz, a(y)] — (—1)Y *[z, 2]

— (12T Va(2) y — (ay — (~1)"yz)a(z) + (=1)7 (zzaly

—(=1)7*(zz — (-1)" "22)a(y) = (-1)" Y (yz - a(2) —

H()PE 2z aly) — alz) - ay) = ()7 V(y, 2, 2) + (=17 (2,2, ),
which gives (2.4).

The identity (2.5) follows by expansion of associators in the right-hand side

and next rearrangement of terms.

Starting from the right-hand side of (2.6), we have

S(z,y,2) = (=1)7¥S(y, 2, 2) = 2(=1)*TD (z,2,) + [a(@), [y, 2]]

= (2,y,2) — (=17 VTV (2, y, 2) + (-1)7TH)(y, 2, 2)

(=1 (2,2, y) + (1), 2, 2) = (1) (@, 2,9) + (), [y, 2]

= (zoy)-a(2) +(=1)"Ta(z) (zoy) — (~1)7 *(zoz)-aly) — (~=1)" Ya(y) - (zoz)
(developing associators and commutators and next rearranging terms)

= (zoy)oalz) - (~1)?*(zo2)oa(y)
and so we get (2.6). O

The identity (2.2) is usually called the Hom-Teichmiiller identity ([24], [25]).
Note that, up to (—1)¥ #, the identity (2.4) is symmetric with respect to y and z.

Upon the additional requirement of right superalternativity or alternativity on
(4, -, a), the following corollaries hold.

Corollary 2.5. If (A, -, «) is a right Hom-alternative superalgebra, then

o (zoy)oa(z ) = (=1)?*(zo2)0aly) = 2(z,y,2) + [(@), [y, 2], (2.7)
o [z,y]a(z) — a(@)ly, 2] — (=1)7 *[zz, a(y)] = 2(z, y, 2) — (=1)" Y(y, 2, 2), (2.8)
e S(z,y,z )+( 1)¥%S(z, z,y) =0, (2.9)
o [roy,a(z)] + (-1)"TF) [yo z,a(z)] + (=1)*T D[z oz, a(y) =0,  (2.10)
o [[z,9), a(2)] + (=T [y, 2], )] + (=1 D[z, 2], a(y)] = 25(x,y, 2)

(2.11)
for all x,y,z in A. In particular, (A,-,«) is Hom-Lie admissible if and only if
S(z,y,2) = 0.

Proof. The application of the right superalternativity (2.1) to the right-hand
side of (2.6) gives (2.7). Subtracting memberwise (2.4) from (2.3) and next using



Identities in right Hom-alternative superalgebras 63

(2.1), we get (2.8). The identity (2.9) follows by direct expansion of S(x,y, z) and
S(x,z,y) in terms of associators and the use of (2.1). In order to prove (2.10),
one starts from (2.9) by replacing S(z,y,z) and S(x, z,y) with their respective
expressions from (2.5). Next, rearranging terms with the definition of the super
Jordan product in mind, one gets (2.10).

In (2.3) let permute z and y and next multiply by (—1)% 7 to get

[(=1)7 Py, a(2)] = (=1)" Ya(y)[z, 2] = (=1)"T [y, 2]a()
= (-7 (y, 2, 2) = ()T (y, 2,2) + (-1)T VD (z,y, 7). (2.12)

Now, subtracting memberwise (2.12) from (2.3), we get

[zy, a(z)] — a(@)[y, 2] = (—=1)7 *[z, 2la(y) — [(=1)7 Vyz, a(2)] = (=1)" Va(y)[z, 2]

—(=1)7 ¥y, ze(z) = (2,9, 2) — (1) *
(3, 2) + (1O, 2, 0) — (~1)FTEE
ie.,

{lzy, a(2)] = [(=1)7 Pya, a(2)]} + {(=1)"T [y, z]a(z) — a(z)[y, 2]}

H=(=1)7 %[z, 2lay) + (=17 Ya(y) [z, 2]}

={(z,y,2) = (=1)"*(z, 2,9)} + {~(=1)" Yy, 2, 2) + (=) (y, 2, 2)}

H(=DPTD (2,2, y) — (-1)7VEE) (2,4, 2))
and so, by the definition of the supercommutator and the right superalternativity
(2.1), we come to (2.11).

The last assertion is obvious. 0

Corollary 2.6. If (A, -, «) is a right Hom-alternative superalgebra, then

[zoy,a(z)] = (=1)7 *[z, 2] oa(y) + a(x) o[y, 2] +2(z, y, 2) +2(=1)7 ¥ (y, 7, 2) (2.13)

for all z,y,z in A. Moreover, if (A,-, «) is Hom-alternative, then

[z oy, a(z)] = (1) *[z, 2] 0 a(y) + a(x) o [y, 2]. (2.14)
Proof. Adding (2.3) and (2.12) and next rearranging terms, we obtain

[zoy,a(z)] - a(z)o [y, 2] — (=1)" *[z,2] 0 a(y)

={(z,y,2) = (-1)"*(z,2,9)} + {(-=1)" V(y, 2, 2) = (-1)7T(y, z,2)}

H (D7D (2 y,2) + (-1)7F (2,2,)}

=2(z,y,2) + 2(—1)§§(y, x,z) (by the right superalternativity)
which proves (2.13).

The identity (2.14) follows from (2.13) by the left superalternativity. O

Remark. If (A,-,«) has zero odd part, then the identities (2.2) — (2.14) reduce to
their ungraded counterparts in Hom-algebras.
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3. Main results

Throughout this section, unless stated otherwise, (A, -, «) denotes a right Hom-
alternative superalgebra and we will prove some fundamental identities character-
izing right Hom-alternative superalgebras.

First, we define on (A4, -, @) the following multilinear function

gz, w,y, 2) = (=1)"T ) (a(2), a(w), yz) + (~1)" *(a(z), a(y), w2)
—(=1)PFTE (2, w, )0 (y) — (2, y, 2)o? (w).

One observes that if A has zero odd part and o = Id, then the function
g(x,w,y, z) is precisely the one defined in [11]. As a tool in the proof of part of
the results below, we show that g(x,w,y, z) is identically zero.

Lemma 3.1. For all w,x,y,z in A, the following identity holds:
9(x,w,y,2) =0. (3.1)

Proof. By (2.2) and right superalternativity (2.1), we have

= ()P f(z,w,y,2) = (1) f(2, 2,y,w) + (-1)7 IV E f (2,0, 2,y)
+(— )P E (@ y,w,2) = ()P (2, z,w,y) + @y, 2, 0)

(—=1)"T{ (zw, a(y), a(2) — (a(@), wy, o(2)) + (a(2), o(w), y2)
—a*(z)(w,y, 2) — (v,w,y)o*(2)}

(=17 (2z, a(y), a(w)) = (a(2), 2y, a(w)) + (a(2), a(2), yw)
—a*(z)(z,y,w) — (2, 2,y)0? (w)}
+HEDT T (2w, a(2), aly) — (a(z), wz, ay)) + (a(z), a(w), 2y)
—a*(z)(w, 2,y) — (v,w, 2)0”(y)}
+H=D" H(2y, a(w), a(2)) = (a(z), yw, a(2)) + (a(z), aly), wz)

)

a?(x)(y, w, 2) — (z,y, w)a?(2)}

—(—D)PT (22, a(w), a(y)) — (a(z), 2w, a(y)) + (), a(2), wy)
—a?(2)(z,w,y) — (z,2,w)a*(y)}
H(zy, a(2), a(w)) — ((2), yz, (w)) + ((2), a(y), zw)
—a?(2)(y, z,w) — (,y,2)a*(w)}
= 2[(—1)"TF) (o), w(w), y2) + (=1)" *(a(2), aly), w2)
—(=1)TEFRYTYZ (3w, 2)a?(y) — (z,y, 2)a?(w)] (after rearranging terms)
=2g(z,w,y, z)

and so we get (3.1). O

We can now prove the following



Identities in right Hom-alternative superalgebras 65

Theorem 3.2. In (A4, -, «), the identities
(wz, a(y), a(2))+(a(w), a(z), [y, 2]) = (=1)"T+2 (w,y, 2)a () +a*(w)(z, y, 2),
(3.2)
(a(x)v a(z)7 yo w) = (O‘(I)a z20Y, a(w)) + (71)E§(a(x), Zow, a(y))
hold for all w,x,y, z in A.

Proof. We have
0= f(w,z,y,2) — g(w, z,2,y) (by (2.2) and (3.1))
= (wz,a(y), a(2)) — (a(w), zy, a(2)) + (a(w), a(z), yz) — o*(w)(z,y, 2)
—(w,z,y)a’(2) — (~1)7F) (a(w), a(2), 2y) — (~1)? *(a(w), a(z), 2y)
H(=1)TEERTE (w, 2, y)a? (2) + (w, 7, y)a’ (2)
= (wz,a(y), a(z)) + (a(w), a(z), [y, 2])
—(=1)TFH2) (w, y, 2)a?(x) — o®(w)(x,y,2), (by right superalternativity)
which yields (3.2). As for (3.3), we proceed as follows.
0= (—1)7Tf(z, 2,w,9) + f(z, 2,5, w) (by (22))
={(=D)"¥(xz, a(w), a(y)) — (=1)"¥(a(z), 2w, a(y)) + (=1)"¥(a(z), a(2), wy)
—(=1)"¥a?(z)(z,w,y) — (—1)" ¥(z, z,w)a?(y)}
H{(22,0(y), a(w)) — (a(), 2y, a(w)) + (a(z), a(2), yw)
—a( )(z,y,w) = (2, 2,y)0?(w)}
(1) T (a(z), 2w, a(y)) — (a(2), 29, a(w)) + (a(), a(2),
)T (a(z). al2),09) + (~)TT) 2,10, 2)0%(y) + (~1)7 (@, g, 2o
1) (w2, a(w), aly)+(wz, aly), a(w) (1) a2 (@) (2 w,y) - (@) (z,y.w)]
= (a(@), 20, a(y))—(a(2), 2y, a(w))+(a(z), (), yw)+(~1)" T(a(z), a(2), wy)
(1)) (3,0, 2)0 () + (~1)F (3, 3, 2) ()
(since, by right superalternativity, the expression in bracket above is zero)
— ()7 (a(2), 2w, aly)) — (a(2), 2, a(w)) + (alz), alz), yu)
()T T(a(z), a(2), wy) + (—1FTDT(a(z), a(w), y2)
H(=1) " a(z), aly), wz)  (by (3.1)
— ()7 (a(2), 2w, a(y)) — (alz), 2, a(w)) + (a(z),a(2),y o w)
—(=1)7*(a(z),yz, a(w)) = (~=1)"T+) (a(z), wz, a(y)),
which leads to (3.3).

O

In order to prove the identity (3.5) below, we first prove that the following
identity holds in (A4, -, «).

Lemma 3.3. The identity
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(~1)HDEEHT[(a(2), yz, a(w)) + (~1)7 *(a(z), yw, a(2)) + (2,5, 2)a* (w)
+(= ) (2, y,w)a?(2)] - a ( ) + [(a(@), tz, a(w)) + (1) *(a(z), tw, a(2))
+(z,t, 2)0’ (w) + (=1)* *(z, 1, w)a?(2)] - o’ (y)

=(- )””*z)( 2(2),a?(y), a(t) - (zow)) + (= 1)V (a?(2), o (1), a(y) - (z0w))
holds for all t,w,x,y, z in A.

Proof. Starting from the left-hand side of (3.4), we have

(~)EHDEEDH (a(2), y2, a(w)) + (1) *(a(2), yw, a(2)) + (2,3, )0’ (w)
HD) T (@, g, w)a? (2)] - @3(1) + [(a(@), tz, a(w)) + (1) *(a(2), tw, o(2))
+(x,t, 2)a? (w) + (=1)7 (2,8, w)a?(2)] - o’ (y)
= (- (a(2), yz, a(w))a (1)
1) HDEEDHIFTE (o), yw, a(2))a’ (1)
);tz, a(w))a? (y) + (1) *(a(z), tw, a(2)) o (y)
g (

OJ“

+(=
+(a(z
—(—1) ?)(E+E)+t§+ﬁ@+?)[( )y(w+2)+w Z(x,2 y)a w) + (x,w,y)aQ(z)] ~a3(t)
( l)w(t+z)[( )t(w+z)+w Z(l‘,z,t) (’LU) + (xﬂwvt)Oﬂ(Z)} ’ a?,(y)
by right superalternativity)
(=)D (a(2), yz, a(w))a’(t)
(— 1)(t+y)(w+z)+t y+wz

(=1)"*(a(z), tw, a(2)

—

(@), yw, a(2))o’(t) + (a(@), 2, a(w))a’(y)

- )o (y)

—1)ED @2+ [(_1)Z@HDHOGHE) (o(z), o 2), wy)

—1)7 RO (a(2), a(w), zy)] - @¥(8) — (1) (a(2), alz), wt)
—1)FPIE) (afx), a(w), 2t)] - oP(y) - (by (3.1))

= (-1 (a(z), yz, a(w))a’ (t)

—1)HDEEFTIE (o(2), yw, a(2))a (1) + (a(2), tz, a(w))a®(y)
—1)7(a(z), tw, a(z))a’ (y) + (=1)THFDEEI[1)FTH) (a(z), wy, o 2)
—1)73 (), zy, a(w))] - (1) + [(=1)" (a(2), wt, a(2))

—1)%(a(z), 2t,a(w))] - a®(y) (by right superalternativity)
= (~)ENETETT[(a(2), y2, a(w)) + (~1)7 *(al(z), yw, a(2))
(1P (a(2), wy, a(2) + (=17 *(a(z), 2y, a(w))] - a*(1)

[(a(2), tz, a(w)) + (—=1)7*(al@), tw, a(2)) + (~1)"H) (a(2), wt, a(2))

(—1)(a(2), 2t, a(w))] - a®(y) = (1) FHDEEDHI[(-1)7 = (a(2), (y) wz)
+a(z), aly), 2w)] - o®(t) + [(-1)7 *(a(@), a(t), wz) + (a(z), o(t), 2
(applying (3.3) to each of the expressions in brackets above)

++

_|_

(
(
(

_|_

+++
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= {(-=1)FVEEH (a(z), aly), zw)a® (1) + (a(z), alt), 2w)a® (y)}

H ()T EDNETDI (a(x), aly), wz)a® () + (—1)7*(a(2), a(t), w2)a’(y)}
= (~D)VHTE (@ (2), 02 (y), alt) - 2w) + (— 1)y(w+z)( *(x),0%(t), aly) - 2w)
LT R (2),02 (y) ) w2 (1P (0 (2),07 () a(y) -w2)]

(applying (3.1) to each of the expressions in {- - - } above) and so we get (3.4). O
We are now in position to prove the following

Theorem 3.4. The identity
(—1)EDEEDTT (2,1, 2)a? (w) + (~1)7 (2, y, w)a?(2)] - ()
+H(@,t, 2)a? (w) + (1) * (2, t,w)a?(2)] - o’ (y)
— (-~ TR R o (2, y, 2))? (tw) — (1) FHAEDTT ((x y,w))a?(tz)
—(=1)"Ya((z,1,2))a’ (yw) — (=1 Pa((z,t,w))a* (yz) = (3.5)

holds for all t,w,x,y, z in A.

Proof. Relying essentially on (3.1) and (3.4), we compute

0 = g(a(x), aly), tz, a(w)) + (~1)FHDETDH g (a(2), alt), yz, a(w))
=1 Fg(a(@), aly), tw, a(z2)) + (~1) DT Tg(a(2), aft), yw, a(2))
= (~)PEP (0 (2), a2(y), tz - a(w)) + (=1)7*(a?(z), 0 (y), tw - o(2))]
+H(=1)TT (0% (), 0%(1), y2 - a(w)) + (=1)7 Z(? (), 0* (1), yw - a(2))]
DFEFDHET (02 (2), aly2), altw))+(~1) T (02 (2), a(tw), alyz))]
DI THRTIEE) (o), aly), of2))o® (tw)
DD (a (), aly), a(w))a?(t2)

¥

)

)

(=
(=
(=
—(=
—(=1)7®(a(x), a(t), a(z))o® (yw
(=
(=
—(

+

1)EDEED (a(2), y2z, o(w))a
7

1) E+7) (@+z)+ty+w (), yw,a(z§
a(z),tz, a(w))a(y)—(—1)" #(a(z), tw, a(2))a3(y) (after rearranging terms)
(—D)FEPTE) (0%(2), a2 (y), o) - 2w + (=1)7 Zat) -

(=17 (a®(x), *(t), aly) - zw + (=1)" Faly
[(—=)FEFRAHETE) (02 (2), aly2), altw))+(~1)T
—(= 1)7 y+z)+y(“’+z)( (z), a(y), a(z))a?(tw)

—(=1)t+ o w))a?(tz)

—(=1)? ( ( ) a(t), a(z))a? (yw) — (=17 (a(z), a(t), a(w))a?(y2)
—(=1) 3

—(=1)t+

_|_

cwz)

D) (02(z), a(tw), a(yz))]

+

1 fﬂ)(w*z)*“’( a(x), yz, a(w))a”(t)

1
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—(a(2),tz,a(w))a’(y) — (-1)" *(a(@), tw, a(2))a’(y)

by right superalternativity)

(17T (a2(2),02(y),a(t)- (z0w)) +(=1)TT T (a2 (2),02(t),a(y) - (zow))
DEERHEE [(02(2), ay)a(2), a(t)a(w))

a(t)a(w), a(y)a(z))]

GV o (2, y, 2))? (tw) — (1) RO o ((2, y, w))a?(t2)
a((z,t,2))a’ (yw) — (1)@ a((z, 1, w))a?(yz)

DR (a(z), yz, a(w))a(t)

—~

++

1 (t+w)(y+z>( 2(2),
)¢
1

(=Y
(=1
—(=1)
—(=nve
—(-t
—(=1)
—(=
y
{

1) ED @D 2 (o (2), yw, a(2))0? (1) - (al@), 12, a(w))a*(y)

1) 2(a(x), tw, a(2)) o’ (y)
by linearity of the associator and multiplicativity)

—~

(~ 17T (2 (2),02 (), (t)-(z00))+(~ )T (02 ()02 (1) a(y)- (z00))
t+y)(w+z)+ty( ( ) yz,a(w))a3(t)

—(=1

— (=) D@ (0 (), yw, a(2) )a® (1)

—(a(@), tz, a(w))a®(y) — (=1)¥ *(a(x), tw, o(2))a’ (y) }

—(= l)t(y“)“’ T a((z,y, 2))a (tw) — (1) FDEEDIRTa (2, y, w))a?(t2)
—(=1)7"a((x,t, 2))a® (yw) — (=1)7 " a((x,t, w) o (yz)
{(=)EDEERT (2,1, 2)a* (w)a(1)

(1) DTN E (3, w)a®(2) - a3(1)
+(z,t, 2)a?(w) - *(y) + (=1)¥ *(z,t,w)a®(2) - o (y)}
— (1) TR (2, y, 2))o? (tw) — (1) DT Ta (@, y, w))a?(t2)

—(=1)7"a((x,t, 2))a® (yw) — (=1 a((x, t, w)a (yz)
(applying (3.4) to the expression in {---} above), which is (3.5). O

Remark. It is easily seen that the identities (3.1) — (3.5) are the Zs-graded gen-
eralization of identities

(a(2), elw), y2) + (ex), ely), wz) — (2, w, 2)?(y) — (2,9, 2)a(w) =0, (3.6)
(wz, aly ) a(2)) + (a(w), a(x), [y, 2]) = o (w) (2,9, 2) + (w,y, 2)a*(x), (3.7)
(a(2),y%, a(2)) = (a(2), aly), yz + 2y), (3.8)
(@*(x),0%(y), ay) - 2°) = (e(z), yz, (2))o* (y) + (2,9, 2)0’ (2) - &°(y), (3.9)
(z,y,2)a?(y) - o®(2) = (2,, 2)a*(2y) (3.10)

respectively, all of which could be found in [25].

As it could be seen below, some Zs-graded Moufang-type identities hold in
right Hom-alternative superalgebras.
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Theorem 3.5. In (A4, -, «) the identity
(zy - a(2))a®(w) + (=17 =TT E (zw - a(2))a?(y)
= a?(z)(yz - a(w)) + (~1)7 I Ea2 () (w2 - a(y)) (3.11)

holds for all w,x,y,z in A.

Proof. In (A, -, a), we have (—1)"F+2) (a(z), a(w),yz) + (1) Z(a(z), a(y), wz)
= (~D)YFEIE R (2w, 2)0? (y) + (2,9, 2)a* (w)  (by (3.1))
i.e., by the right superalternativity,

—(a(z),yz, a(w)) — (=1)7 *F V0= (a(z), wz, a(y))

= (=1)YFFOVFUE (), 2)a? (y) + (2,9, 2)a? (w). (3.12)
Therefore one gets (3.11) if expand associators in (3.12). O

Remark. The ungraded version of (3.11) is proved in [25]. For o = Id in (3.11),
one gets

(zy - 2)w + (=17 FFOVTE (qw - 2)y = 2(yz - w) + (—1)7 *FOV EFx(wz - y)
and if, moreover, A has zero odd part and y = w, one gets the right Bol identity
(zy - 2)y = z(yz - y) formerly called the “right Moufang identity” (see, e.g., [17]
and [27]). Consistent with this observation, (3.11) may be called the “right super
Hom-Bol identity”.

Remark. In case when (A, -, «) is Hom-alternative, then (3.12) yields
(1" (yz, a(2), a(w)) + (-1)TEFDHETEE (w2, o(2), a(y))
= (12T (2, z,y) 0 (w) + (17T (2, 2, 0)a? (y). (3.13)

If, moreover, A has zero odd part and o = Id, then (3.13) reads as
(yz,z,w) + (wz,z,y) = (z,z,y)w + (z,z,w)y
which is the linearized form of the middle Moufang identity ([27])
(yz,2,y) = (z,2,y)y = 0.
In this sense, the identity (3.12) is (in part) close to the middle Moufang identity.

In [18] (identity (9)) the following identity is proved to hold in right alternative
algebras:

(x,z,yow) = 2(x, z,w)y — 2(x,y, 2)w + (x, [2,y], w) + (z, [z, w], y).
Its Zs-graded Hom-version is given by
Theorem 3.6. In (A, -, «) the identity
(a(x), a(2),y 0 w) = 2(=1)7 ¥(z, z,w)a?(y) — 2(-1)7 * (=, y, 2)a*(w)
+a(x), [2,y], a(w) + (=17 ¥(e(z), [z, w], a(y)) (3.14)
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holds for all w,z,y, z in A.

Proof. We have

(a(z), az),y ow) = (), z 0y, a(w)) + (=1)" (), z 0w, a(y)) (see (3.3))
= (a(), zy, a(w ))+( DY #(a(z), yz, a(w)) + (=1)" ¥ (a(2), 2w, a(y))
H(=1)PTE) (a(x), wz, aly))

= (a(x), [z, 9], (w))+ (—1)V*(a(z),yz, a(w)) + (=1)" ¥(a(z), [z, w], a(y))
+2(=1)"T ) (a(z), w2, o ())
= (a(x), [z, 9], a(w)) + (-

+2{(=1)? *(a(2), yz, a(w)) + (—1)E(§+E)(04(33)>w27Oé(y))}

= (a(z), [z, ¥}, a(w)) + (=1)*

=2(=1)7H{(-1)7 z,w, 2)a?(y) + (2,9, 2)a?(w)}  (by (3.1))

= (a(2), [z, y], a(w)) + (=1)" ¥(a(2), [2, w], a(y))

+2(=1)"¥(z, 2,w)a(y) — 2(=1)7 * (2, y, 2)a*(w)

(by the right superalternativity) and so we get (3.14). d

E\
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